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# coding: Windows-31J

sum =0

i=3

loop{
sum += i*
break if i==
i+=1

}

puts( sum )

# coding: Windows-31J

sum =0

i=3

while i <=7 do
sum += i*
i+=1

end

puts( sum )

REMEQ

# coding: Windows-31J

n=gets.chomp.to_i

seki =1

i=1

while i <= n do
seki *=i
i+=1

end

puts( seki )

REMED

i=0
while i <= 100 do
i+=1

ifi% 3==0o0ri% 10 ==0then

next
end
print( i, "¥n")
end

REME®

i=1 while i = 1000
_ X = rand(6)+1
total =0 if x == 1 then
count1 =0 count? +=1
- elsif x == 2 then
count2 =0 count2 += 1
count3 =0 elsif x == 3 then
count4 =0 counts += 1
elsif x == 4 then
count5 =0 count4 += 1
count6 =0 elsif x == 5 then
count5 +=1
elsif x == 6 then
count6 += 1
end
i+=1
-——————{end

REMED ()

print( "1OHIREIF ", countl , "¥n"
print( "2 HIREIF ", count2 , "¥n"
print( "3DHIREIH ", count3 , "¥n"
print( "4ADHITE L ", countd , "¥n"
print( "5OHIREIH ", count5 , "¥n"
print( "6 D HIFE S ", count6 , "¥n"




REMEG

# coding: Windows-31J

print("n>")
n = gets.chomp.to_i

while n =1 do
print(n, "¥n")
ifn % 2 == 0 then
n=n/2
else
n=n*3+1
end
end
print( n, "¥n")




